vl

s $ &gaso 20l 2 A

r{o
fijo

REn2R? (d 270)

® 0.123123---=0.123 @ 23.2626--- = 23.26
® 3.14151415--- = 3.14151 @ 0.2343434--- = 0.234

® 33571571 --- = 3.3571



2.

(2x2y3)2 % I:]+ 4x2y3 — (3y2)3 o) A |:]

@ 4xy @ 2x%y ® 3xy? @ %




ol
S

)

vreb 4 9)

g2

£ 109 AEAE<

O B A X"
OB S ER

3.

|



o_a

Q]
=

E A2 YERH 0.41666 - - -

X
2

—

[} A=IELS
—FT':T

]

:I]_

7

4.

Fod=t,

S



5. &84 340872 =x 5 E42 17 0, ash 429
D 1000x — x @ 10000x — x
@ 1000x — 10x @ 10000x — 10x

3 10000x — 1000x



otrar o

oo ¢Ba5E B4R el Bgolth [ jobo] @gre
TE A2 Ag ot

1459 =1+ |xo0.00i
:1+[::]X£§
]

37







Z=2 UER® ¢ - 0.2, b+ 0.1 o]t} g o e



42 ek, Bedols £A18 B2 HopA]
ol B2 BT HobA o] 023 7} H ek,






11. 2vx22=640]1 25 425 =2 A W} x4y O] 322

@D 6 @ 7 3 8 @ 9 3 10



a® = (a®)?

12.



13. A=92v3 B—3t1a o =
4606
@® 2 A ®)
4609
@ 3 ®

B2

o £ A, Bof| Tt A o= yEhfiH?
4607 4608 .

B ® 7 A
4610 5




14.

a:b=2:594 0,

(2a5b3)3

gy o @2

® 12

@ 16



15. 2 —[x—{3x+4y—|:]}]:—3x+7y?:_] ,I:]?_Oﬂ dare

A7

@® 5x+vy @ —5x+2y ® -5x—2y

@ 5x-y ® 5x -2y



16. o]t} 4 oA —x? — 2+ 4 B wlolof & AL AR 5}o] H5R
HY 422 + x—3 0] Flgich. o] u, o thakAl 4 9

DO 2x24+x-1 @ 3x2-x+1 ® 4x2+x-3

@ 5x24+3x-7 ® 6x2+5x—11



17. e AR 87 ge AL

—(2a—b) =-2a+b
—2y(x + 3y) = —6y” — 2xy
2y(5y — 3) = 10y? - 6y

~2x(3x = 4y) + y(x + 5y) = —67 + 10xy + 57

@ ® @ 0 ©

—2x(4x-3y) —y(x=3y+1) = —8x2 —|—5xy—|—3y2 -y



18. 124° —24a?b & o1 A L2 UsE §0] 6a® o]t T |, o 427

@ a-2b @ a-4b @ 2a-2b

@ 2q —4b ® 2a — 24b



19.

(12a%b — 18ab?) + 6ab — 2a(6ab — 4a)

@ -15ab + 10a @ -15a?b + 10a
® —15ab + 104> @ —15ab® + 104

3B =15a2b + 1042




20. wHAEO] el Eol7t b A71E ] FulE REAFo] holal &ol7}

aql 9] B o] B ujelx) Fahofet.

B e el






6a + 5b — ¢

22. :b=3:2,b:c=1:2¥
“ ¢ = Ty 4

o gre?

10 19 24 27
@ — ® @ = ® 3

@ 3

| ©



@ Apelo) A



= 272 Uerd o, 2543 ofefl 20 A 2] o] 5 a, 99

O |~

<k
R

09

S, a+b 9 F

v Apele] 52 pet

® 9 A 10 @ 11 B 12

D 8



25. x— 13331 o, 10 — x©] B4 Fatolat,

S ER
-



4
o

v

it

rie
£ b
T

1.4 2 q 2 st1 0.28 9

S}
=

o, ab °] 3



27. 329 +9°+9%) =243 uf, x 9] FFS Fotefet.

>R
=%



)

2 5X+y
53y

=125 & o, 32 x 125" 2] #}eg] 9] £E L5}

Aele] 4



29. 3143 4+ 3 =117 A o], x 9] FZ Foteiet

>R
=%



30.



31.

5 =A% (x1, 1), (x2, y2) ol THSFA (x1, y1) X (x2, y2)

x1y2 + y1X2 + xoy2 = 2] ek, ojwf, (x, —2y) x (2x, 5y)
she?

@ xy @ 3xy @ 5xy @ Txy ® 9xy



32. A = (124°b° - 8a°b*)+(2a%b)?, B = (4a°b* — a*b?)=(—ab)?> 4 1,
S W&ot 4 CE FoHH?

A-(B+2C) =3ab®+1& U

@ C=ab @ C = ab? B C = —3ab?

@ C = 3ab? B C=-ab



33.

5a — 3b

3a+5b

3

Q
Il

® ©
S
I

4

w
S

S w

2a—b 5 a°l
@ a=-3b

3
® a=-



x28y42 70 o

2 afoll

S WEohE A n 9 Fho] Y o, a +






